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Fap(X,)= achromatlc receptor response, TUB model Fap(X,)= achromatlc receptor response, TUB model Fap(X,)= achromatlc receptor response, TUB model Fap(X,)= achromatlc receptor response, TUB model
i 10 oAl _ qgxcla 105 =10 % g6 /NO)_gx, s 10%/@ _ 1% /@ 10% =10 % g% /N(L0)_gx, o 10 ofal _ qgxcla 105 =10 % g6 /inO)_gx, s 10%/@ _ 1% /@ 10%=d"10) % g% /N(L0)_gx,
P 10* ay qoxle a=1,00, b=1,00 =2,718282 3T Fan 10%/@ 4 g%/ a=1,00, b=1,00 £=2,718282 3T Far 10* ay qoxle a=1,00, b=1,00 =2,718282 3T Fan 10%/@ 4 g7/ a=1,00, b=1,00 £=2,718282
a'=aln(10)=2,302 a'=aln(10)=2,302 a'=aln(10)=2,302 a'=aln(10)=2,302
10x,/a‘:10x, Ia In(10)]:e><, la 10><, /a‘:lox, Ia In(lo)]:ex,/a 10x,/a‘:10x, Ia In(10)]:e><, la 10><, /a‘:lox, Ia In(lo)]:ex,/a
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L =28cd/n? L =28cd/n? L =28cd/n? L =28cd/n?
1 1 1 L L
%, =log[L/L ] 4 x,=log[L/L] 4 x,=log[L/L] %, =log[L/L ]

her20-2n fek10-2n her21-2n fek10-2n
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b(Xp)= achromatlc receptor response, TUB model Fp(X,)= achromatlc receptor response, TUB model b(Xp)= achromatlc receptor response, TUB model Fy
(x)=b mxr a_qgx/a 10% =10 % X /IN(O)_gx, (x)=b 10xr a_ gl 10% =dn(10) % 10%/INA0)_ X, (x)=b mxr a _ g X/ 10% =10 % X /IN(O)_gx; (x)=b 10xr a_ gl 10% =dn(10) % 104 /INA0)_ X,
$Fale 10%/@ 4 g7/ a=1,00, b=1,00 e=2,718282 3T Fap(Xr 10%/a 4 1g7% /@ a=1,00, b=1,00 e=2,718282 $Fan(*e 10%/@ 4 g7/ a=1,00, b=1,00 e=2,718282 3T Fap(Xr 10%/a 4 1g7% /@ a=1,00, b=1,00 e=2,718282
a’=aln(10)=2,302 a'=aIn(10)=2,302 a’=aln(10)=2,302 a'=aIn(10)=2,302

1Ox,/a':10x, I[a In(10)]:e><r la 10% /a':lox, Ia In(lO)]:ex, la 1Ox,/a':10x, I[a In(10)]:e><r la 10% /a':lox, Ia In(lO)]:ex, la

p(%)= achromatlc receptor response, TUB model

al al

L ,=28cd/m? L ,=28cd/m? L ,=28cd/m? L ,=28cd/m?

%, =log[L/L ] g =log[L/L,] =log[L/L,] g =log[L/L,]

her20-3n fek10-3n her20-4n fek10-4n her21-3n fek10-3n her21-4n fek10-4n

Fap(X,)= achromatlc receptor response, TUB model Fab(x = achromatlc receptor response, TUB model Fap(X,)= achromatlc receptor response, TUB model Fap(X,)= achromatlc receptor response, TUB model
D(X )= 10 10°% 10% = In(10) X, lox,/\n(lo)_e ¢ ( ) be X /i =& b()( )= 10 10°7% 10%= In(10) X, lox,/\n(lo)_e b( ) 10 10 % 10% = In(10) X, IOX’”" 10)_e ¢
rée 10><r/a 1107 a=1,00, b=1,00 e=2,718282 3T Xilay gxila a=1,00, b=1,00 e=2,718282 3T @ 10><r/a +107% a=1,00, b=1,00 e=2,718282 SEE 10><r/a y107% 2=1,00, b=1,00 =2,718282
a'=aln(10)=2,302 a'=aln(10)=2,302 a'=aln(10)=2,302

1Ox,/a':lox, I[a In(lO)]:ex, la 1Ox,/a':lox, I[a In(lO)]:ex, la lox,/a'zlox, Ia In(lO)]:ex,/a
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. =28cdin? L =28cd/n? ( . =28cdin? L =28cd/n?
L

n n n n

+ —t t + t
4, =log[L/L] g 5 4 x, =log[L/L] 2 5 X, =log[L/L ] g 5 4 x, =log[L/L]

indino juud 1o Aejds

o(Xp)= achromatlc receptor response, TUB model X)= achromatlc receptor response, TUB model A

Pk g
X b F. (X b Standard:; X
L Fan(x) = Xfa o la a=1,00, b=1,00 e=2,718282 JFac*) = ekila . gxilc a=1,00, ¢=1,00 e=2,718282 3T Fan(r) =

o(Xp)= achromatlc receptor response TUB model x)= achromatlc receptor response, TUB model

10 Ja Xl 104 =10 % 0% /MA0_gX, E (%)= 10 /2 _ g 30all0 % 1¢/INO)_ex,
10>< ol a=1,00, b=1,00 =2,718282 I ac 10Xr/a +107% /¢ 2=1,00, C=1,00 e=2,718282
a'=aln(10)=2,302 a'=cIn(10)=2,302
10x,/a':10x, Ia In(lo)]:ex, la 10% /a':lox, Ia In(lo)]:ex,/a
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L =28cd/m? N L u=L280d/mZ
og[L/L ] - il 1 4 x =log[L/L,]

her20-7n her20-8n her21-7n her21-8n

TUB-test chart her2; Model of normalized response fundtigfx;) and derivatiorF’ 5{X;)
Mathematical calculation of the derivatibhy(X;) is only approximately valid
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